xrxr
i 2 75 |
AXREERBERSRAUARUVARESEHE LEOLEEREIZCKYEKET 5,

(1) FEHON—DLITHITRDBEY T 5,
BF 140—145—150—155—160—165 (LIE3cmE&EH)

XF 125—130—135—140 (I3 cmE&H)
(2) FEEBk. =B, FAABIEIROEHFLUTIEEALAZWL, =L, XIE-218 - TOMOREICLIVYERT S L
1Hb.

E Nz Bk BEF4m50 ZF3m50
Atz BF7m0O0 ZF7mO0OO
(8) N—FILOREITRDAEY,

i B = =k 43—\
X & B F| 91.4cm 108 13. 72m-9. 14m-14. 02m
B = £ B F| 84 2cm 108 13. 00m-8. 50m-10. 50m
* & & F| 76.2cm 108 13. 00m-8. 00m-15. 00m
B % & & F| 76.2cm 8 & 12. 00m-7. 50m-15. 50m

(4) Z=EBBOBUGMEIEZOImMET S,
(5) HEE. TOIVUFFETH LLREXRRZREGICEREMAFEZELTCEHRICALESZ &,
(6) HBEFRODBEYITI, L. VL—HBRRIIBEZTHZO 1 BERETICA—4F—FAREEERICIEEL. X
HTESVIBBEOBERZICEICES LSICHBEETS L,
FS U OB 4 0RHIND 1 550
J4—ILREEH 6 02HIAN S 3 04HT
(7) BF3000mIcBVTIZHRKERET 5,
(8) EETIHHEIL. EERBEZLITATICIEET S &,
(8) BALL—RARBIZBVLWTRZALDBEIE1/1000BEETEEEZDITS, TNTHLOMLENEATHEEIT
Do
(9) RIAMVDEVORIIEFEImMmLUANELENZEFERAT S L, EEEkIE1 2mmBRA,
(10) Ya—XICBEILTIX, TRE.5 (MENES) Z@EHT S, =L, Z4—ILFHEEAS 1 —XI2HLTIX, TRE.5
HARNMEE LT D,
(11) PRYU—FETRIZEREAEBIEED LD EZWELIC DTS &, =L, BEREIZBLTIX. EHEL LN
T&LY,
(12) JL—FZF., 2BEA—DA1=7+r—LEFRTH &,
(13) 800mlEtE/AL—F, 1500mIEA—TRE2—F, 300 0mIIBERXREZ—FTITS,
(14) 3B (YL—_EL) CTHERKMAEL > H-BAXZTOEBDERIZLTHLETFS v IBREZEBET S,
(15) FRAMBVBEAZHRZLEITLTITI. BaF1466m, 2658, 34m. UT1EZHL. 6kE15E
ERCT
(16) HIX-BASHETERZIRET 5, HAREBHRICIIEBEBELRET S,
(17) REFBERERBRTR., KBICTESLIZIT >, RANEHONGWEZTEIRKEZITSHI L,

N e
FEEIR
(1) BEARXIEIfTHhEN, BEYF—F v I IIBERKIZITI,
(2) 7y JTIETE2RY GBS MRXESIETITOICE, T, AABROBET IR TEHESEOATITIZEN
TZE5,
(3) EIEIBZIEIE1. F£2. EIHEZGIHNFERTES, NADEBKRIFESEFESFOHATHAT 5, NRITEBRALDIE
PRk Y i A S ALY,
(4) H%E-REBOFZ VY - T4—ILFATOEER - BHEEFZZELET S, £, EELLEE - HEIXEANFER
REODBANDRY FOSNSLEIZ7Z Y T LELY,
(5) OGHMETIZAELIEEF. F—LOBRIX. AP TRREFHEIFLUAPITBLTITOI L, Tz, BREZEE
THBAF. EHBEBRTERIODLURAICKREICHLES Z &,
(6) ZHEORNIIRDEY,
6 : 30 BEHRAUVLBEESEAO M
7:10 RAVFIEPRME. MHEEE - B TCEHEES. £3HES M
7:45~8:15 ZR2ZMH GRESBE@AD)
8:20 FAVUHEKIGETOREERT
8 : 30 HERRUEBIITLEEDLYE / #HHMEEERET (ERHKEY )
9 : 15 HEBAtA



AN
X =& = wr #= & H)
X=rl &k HE RE (FEH)
KX B E B B GIRE)IAE)
Ry AvA
JUL
OFfF ORIF(E
a % R BE ChER)
b3 % =1 AL B GIREDAR)
M SL—ES (R E)
ol B % il (B W)
* H gs N7 7 NI 59 =
AL — ko EA A3 (RE
7T O#% Bk (B2 W)
ARk (A7 J5)
ekt Z— O%k 5% (& 1)
(RERFLER) Ok =K (B W)
(74— F) OXJF ZETF GBreR)
EHAE B GIRE)I)
(FEHALEE - Fiw) OB Fih (K %)
BEEEONL D (GRHEP)
(F® - B Olin #EE B %)
&1 L CRENHR)
Wi Bo#= 4R OXIL T (fe 1)
/N e (B 1)
(vF—F=>77) HF FE G =)
=z B 5 RO A G =)
o = % RO k= (B W)
B ELLFES (HOH)
B F W EORk =z (FE W)
) Bk (GRHK)
H # H & QA FHi (B #)
AiltA 5m (EHR)
oWy FOH BOmEK AL G R)
T B OH ®E BOEZ HHMt & L)
M LB (RiEE) [3]
5 %= = odun —BE (k& #)
5 e (B2 W)
E HRE (B #)
B E— (B W) [BE]
Gl ARt (CREFH)
WA Fis (ENDEAVOR)
2 H — X —OEFE HBK (X W)
Mz 2 (FHW)
Y it GERE) [5F]
H 7 % ON\= KBy (& )
PRI I (R
HE OEKR (FER)
Frid s Gl 3
A |OFE &% BOSTER O ARE (B W)
BE B OF W OB
[ & m=Bk] ORIl = (F2 #)
Ml ZEAN A
[EmEpk - —Btk] Ofik W= (B #)
FERE  ERZE (1)
Wl e GIRE)11FE)
B F W BOPRAR AR (W)
g R/IEK (ZH )
JEE % % Oln R (R
CA=2/A7NN) Offik F= (MER)
B # O5 fR Ol sEFE (HEAD
&I %32 (HinosatoRC)
= % % EHHEETT F &)
ioB B f% OIUA F= (FEBHH) [3#]

A 4
= O’

i IER

o
X

53
% R

)
)
R L
UES S
Ao =
jiin=!
JIH
R BT
L U=
Al R
JIlE - B
Hor Fnse
SFiRy fF3E
L Y
LRE Hifl
HA BT
HA 15k
T HER

EI

Hhir
DTS
e
it
i
s
oA

=

#*

(S
pNi
ki
Al
&5
A
FPE HRER
EREGE
e RIS

By i
I EAs
"A HT
wE s
St

2%
2

JiA
ek
Bk
PR
Ohig R
LA =
INRB DA
HEZE A
Rig 55

1E%
e

gt

i

=

=
=\

G )

I

/

(H2R7)

74—V R ALl
frsE Cer =)

(K2

(b2 H)
(R PE)
(& )
(FLEEF)
(HER)
(FAM)
CF %)
(B2 )
(B2 )
(t& )
(& 1)
(B2 )
()
(FAmM)

(AT 50

(FHEE)
(BH» )
(H B
(Fe  #)
(Fe  #)
(Fe  #)
G )
(LEEEF )
(HFEY 2=7)
(Fe  #)
(B )

(=)
(FLEREF)
(X i)
& H)
(B2 #)

(—BH)

(Fe  #)
(ZEER)
(FEH)
GIRELJI14E)
(FEH®R)
(KSE/T)
(F %)
(= )

- #) [kl

A ] G5

FEE)

iy o (GBS

fe= (B #h)
ERS VINERE NG

B

ZELN
JE H

H IR
& H
)
L
A

K

Bl

gt )

I
ST
ik
L2

] e
fad

fiks
R
Kt

EfE

EPN
ELf

i
PET
b
it
B
R

fe=s

—

i)

%)
%)

%)
(| %)
o =)
(t& [#13R)
(B2 )
(=)
(FEERIRT)
= B
(HEH)

(& 29

(F

(a2
(1

i)
i)
)
1)
)
F)
)

€0
(f&
(=
(a2
(a2
(°F
(¥

(K

(7]

)

7 (HiJE )

(B t)
F ")
()

C (RTER)

(CREFH)

(B2 )
CRSEI )

(FAM)

(& &)



